
 

 

SA-I  (sqMbr -2014) 
smW :- 2 2 2 2 ½ GMty              SyRxI  – AT̀vIN                     ku`l AMk :- 75 
              ivSw – gixq 

 
swry pRSn jrUrI hn [ 
 
1.  i)    tWk sMiKAw dw vrg __________ huMdw hY [ 
    ii)     598 dy vrg dw iekweI dw AMk kI hovygw _________ 
   iii )     jykr vyc mu`l = 2000 ru: Aqy KrId mu~l = 1800 ru: hovy qW lwB pqw kro[ 
   iv)  jykr AMikq mu`l = 1340  ru: , ktOqI = 140  ru: qW vyc mu`l pqw kro [ 
   v )      KwlI QW Bro  xm

 × x
n
 = ___________ 

    vi )      nMU  prmyX Gwq AMk rUp iv`c ilKo[ 
     vii)    (a+b)

2 
=  _____________________________ 

    viii)      (a-b)
3 

=   _____________________________ 
                                                  (1x8=8) 

 

2.           guxnKMf ivDI rwhIN 7744 dw vrgmUl pqw kro[ 
3.     -1331 dw GxmUl pqw kro [ 
4.      mu`l pqw kro   (243)1$5 

5.  KrId mu`l pqw kro jy vyc mu`l =2300 ru: Aqy lwB = 15% hovy[ 
6.      jykr AMikq mu`l 6000 ru: hovy Aqy vyc mu`l 4800 ru: hovy qW ktOqI % pqw kro? 

 
7.      jykr mUlDn 1000 ru: hovy dr 10% hovy,  smW =3 swl qW ku`l Dn pqw kro jykr   
        imSrq ivAwj joiVAw jwvy[ 
8.      ic`qr iv~c l ]m  Aqy n kwtvIN ryKw hY jy kox a= 45

0
 qW   b ,      c  Aqy     d  dw mu`l   

         pqw kro [ 
                                     

      
                                                                               (3x7=21) 

 
9.  ie`k cqrBuj dy kox 5:7:8:10 dy Anupwq iv`c hn [ koxW dw mwp pqw kro[ 
10.    ie`k rwSI 2 swlW iv`c 8% slwnw dr nwl imSrq ivAwz rwhIN  5832 rupey ho jWdI  
        hY [ rwSI pqw kro[ 
11. ie`k tYlIivizn 5% ktOqI auprMq 10450 rupey iv`c imldw hY[tYlIivizn dw AMikq mu`l   
        pqw kro[ 
12. SmSyr ny ie`k GVI 840 ru: iv`c vycI qW aus nMU 5% lwB hoieAw[ ayuh ausnMU ikMny dI 
        vycdw hY ik lwB 10% ho jWdw hY[ 
13. h`l kro: 183/2 ÷181/2  
14. GxmUl pqw kro: 9261x 2197 
15.  ie`k smWqr cqurBuj dy lwgvyN kox 2:3 iv`c hox , ies dy cwry koxW dw mwp pqw kro? 
 
              (4x7=28) 

 
16.  180 nMU ikhVI CotI qoN CotI sMiKAw nwl guxw kIqw jwvy ik pUrn vrg bx jwvy[ pUrn vrg 

dw vrgmUl pqw kro[  
     jW 
 119025 dw vrgmUl vMf ivDI rwhIN pqw kro? 
 



 

 

17. ikMny % slwnw dr nwl 10,000 rupey do swlW iv`c 12100 rupey bx jwxgy jd ik ivAwz 
swlwnw lgdw hovy[ 

     jW 
 mnjIq isMG ny do motrsweIkl 32000 ru: pRqI  motr sweIkl KrIdy,ie`k 15% lwB Aqy 

dUjw 15% hwnI qy vyc idq̀w [ sOdy dw lwB % jW hwnI % pqw kro[ 
18. ie`k sm cqurBuj dy ivAkrn 32  sm Aqy 24 sm hn, ies dw primwp pqw kro? 

 
     jW 
 id`qy ic`qr iv`c x dw mu`l pqw kro jy ABII DC II EF hovy[ ij`Qy  ED = 3 sm   AD=2 

sm, CF=X  Aqy BC=3 sm.  
 

            (6 ×3 = 18) 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

                                                       SA-I (September - 2014) 

Time : 2 ½ Hrs.            Class - VIII              M.M- 75 

              Mathematics 
 
 

All Questions are Compulsory.                                                             
 

1   i)     Square of an odd number is ________________. 

    ii)    What will be  unit’s place digit of the square of 598:  ____________ 

   iii)     Find profit if selling price = Rs.2000  and cost price =  Rs.1800 

    iv)    If M.P. = Rs.1340 , D = Rs.140  than find S.P. 

     v)     x
m

 × x
n
 = ----------- 

   vi)    Write rational exponent form        

   vii)    (a+b)
2 

=  _____________________________ 
    viii)      (a-b)

3 
=   _____________________________ 

 

                                                                                                                  ( 1x8=8 marks) 
 

2.        Find Square root of 7744 by factorization method. 

3.        Find the cube root of  -1331. 

4.        Find the value of (243)
1/5

    

5.        Find cost price if selling price = Rs 2300., profit = 15% 

6.       If market price  =Rs. 6000, Sale price = Rs. 4800, find discount % 
7.        Find amount if Principle =  Rs.1000, Rate 10% per annum and time = 3years and  

           interest is compounded annually 

8. In figure l ] m and n intersect them. If    a = 45
0
 Find  b,   c,  d 

                              (3 × 7 = 28 ) 

 

9. The angles of a Quadrilateral are in the ratio of 5:7:8:10. What is the   

 measure of these angles.  

10. A sum becomes Rs. 5832 in 2 years at 8% rate of compound interest. Find   

 the sum. 

11. A television after 5% discount is available for Rs. 10450. Find its market   

 price. 

12. A  shamsher  sold a watch for Rs. 840 on which he got 5% profit. At what   

 price he should have sold it to get 10% profit. 

13. Solve :  18 
3/2

 ÷ 18 
1/2. 

14. Find cube root of 9261  ×  2197. 

15. The adjacent angles of a parrallogram are in the ratio 2:3 .Find the measure of all the  

 angles ? 

 

              (4 × 7 = 28) 

16. By which smallest number 180 be multiplied so that it become a perfect   

 square. Find the square root of the perfect square so formed . 

     Or 

 Find the square root of 119025 by division method. 

 

17. At what % annum rate of a sum of Rs. 10000 will become Rs. 12100 in 2   

 years when interest is calculated annually. 

     Or 

  Manjit Singh purchased two motor cycles for Rs. 32000 per motorcycle.  One sold at   

 15% profit and other at 15% loss. Find his profit or loss percent in this transaction. 



 

 

 

18  The diagonals of rhombus are 32cm and 24 cm . Find its perimeter.  

      

     Or 

 

  Find the value of x in given figure. if AB ] DC ] EF, where ED = 3 cm,   

  AD = 2 cm, CF = x  and BC = 3 cm. 

 

 
  

 

          (6 × 3 = 18) 


